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1 0 0 1 1 0] ¢2 0 1] z¢
= T L == g +
0 1 1 0 0 1] 2 1 4] 83
14 i t? e
= J{1l4=— 4 — # =} t+ o | )
( 21 41 At 31 51

= ( cosht)I+ ( sinht)]

o cosht sinkt
Sinht cosht
BB THESEREEBMBIBATSY

& e4t.pBt éeeBt.eAt#e(A+B)t

1 1 .1\
A mzzl,c,<o [ i=2 s ¢; -1 0 Bi=8. n e, ulim
0 0 3)
. ‘
1
1

~1 -1
@i1=2,c, ) pA=—1(ZEf),c,| 1 +c3<0

/1 0 :
(3)®a#‘5$€rﬁ\2},z:av61 O) ;1:{3,02 1 ;27’03(
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1 /0 0
@a=pxrK,2=a(=8),¢,[0 +cz(1 s A=7,¢5]0
0 : 1

} 1 /0 0
@a=rxpl,2=a(=7),¢,(0 +c2(0 sl=8 5 s |1
; 0 \ 1 0

®a=p=7F, 023 EREEEEERE .

3 |At=aI|=|(A*=2I)'|=|A-11]

§ FABIER, AIAT D&, %FAX—lx(x%O)HX~XA’x%W s BRR1%0,
HEARBIEA, QA TEERE|Al=0, REAx=02MERER 02 , BUtM ~ , Al
Ax=0=x,1AEEHEO ,

la— 2 b

c d—1

ELIpEERELAL=2%-1=0 , Ak

a+b=d , ad-bc=1 .,

h #& =212—-(a+d)i+(ad-bc)

a b
BEbNO0B, |1-a° | BEkZAE
b= 08, i ] [ ] BT b
6 RE®H| L- I|~0EH—I lﬂlL!~1 BT |
IL El=14 Ml=1Lt W =il L L*= L] =] LE*=E|=]| I-L]
M LL* =1 %EL%3%E§ﬁ@o%%
fE=df= |~ (d=0}|==]|E~1| (EHBEAHS )
Bl | L-I|=-|L-1], BI|L-I]|=0
Rkl — 1, ofy LEREAME , bR KKREE A
T a=al ) a:|L]»1 B a=-1

&—lﬁzﬁﬁo
7 |A-21|=212-521+1
A‘ —5A° +6A° + 6A—- 81

(A2 -5 A+TI)(A? -1 )+A-1
: (1 —-1)
A-1 = -
1 2

8 IA—ZI[— (2°2—12—-41+4)=0 = 1=1,2,-2

(DF|H Frobnius %ES ABBEIEERS3 . 6 , —6,

@ —2%X1% , -2%X2% ,-2%X(=-2)7

BFe(x)=x"-2x+4 ,Ble(1),¢e(2),0(3)RRARZEHE .

@ |A-2I|=f(2)=0 ., f(A)=0
Fibh A°—A? —4A+41=0 , BB 4I1=A(41+A-A%)
. 1 2 0 -2
At A—’ZI(4I+A—A2)=X- 0 2 =2

-2 =2 0
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10.

HEER [ i ]

DABEEABRRS f(2)=(2-1)(2+1)(2-2) =10
Jl| f(A):A‘?—ZAz—AnLZI:O » A° = 2A2 +A-21
A = A° A = (2A° + A-21) (242 +A-21)
—4A* +4A° —TA* —4A+ 4]
= 4A(2A% +A-21)+4A4° —TA? —4A+ 41
=0A% —3A% - 12A+41
=0 (247 +A-21)-3A% — 12 A+ 41
= 15A7 - 3A- 141

ABEEER 1 , 2 0-1 AHBSEARER @ ()

B (1,1)A=(1,1) , (1,-1)A=(2a-1)(1,-1)

1L

12

£ n ba
TR AT (cn dn) A
an b 1 B an+ bn B " a 1—a 1y 1)
(c,. dn) (1) a <Cn+dﬂ) g v(l—a a ) (1) T (1
BE antba=1, catda=1

= (an bvf(l) 3 (dr—h) :A"(l) i (1)
Cn dn 1 \Cn‘dn =1 =1 b

H-1<2ae-1<1,.F (2a-1)"—>0,8 @n—0.—0, ca—da—0

# R e A T
A 3 (u d) A & i

# Ax=21x (x%0)

(A2 +A)x=A-Ax+ Ax = A(2x) +2x=2Ax+2x=(2"+21)«x
e 2P+ B AT+ A BEERE
% ABx = ix (xx0) Bx = 0K

BA-Bx=B-ABx=1Bx ,HiBBABEEHE.
¥Bx=0,01=0,|B|=0,Ht|AB|=0,EthrHABRBAKEL 0 BEEHE

T — R BB RERA

— AXMEEREENFREKE 4





